Math 346 Quiz 2A
February 8, 2016

Name: A N S\/\fé Q S

Instructions: No calculators! Answer all problems in the space provided! Do your rough work on scrap paper.
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3. Letd = (2 1 1), B = (; —41 g), €= (_1 1) and D = (0 1 O)' Compute the following, or
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4. Suppose C and D above were multiplied to find CD. Write the size of the result, or “DNE” if they actually

cannot be multiplied: 2 P 3

5. List the square matrices in problem 3. B 2 C

e
6. True or false: Suppose AB is defined. If A has a row of zeros, then AR has a row of zeros. {'(‘ v€
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8. Would your answer to problem 6 change if it were B that had the row of zeros? \/QS

Bonus: (a) What is tr(B) = | +(:‘[)+ C‘ e Ql ?
(b) Write the system in problem 1 as an augmented matrix below:
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